



SIX BAR LINKAGE MECHANISM
SYNOPSIS

A six-bar linkage is a one degree-of-freedom mechanism that is constructed from six links and seven joints. An example is the Klann linkage used to drive the legs of a walking machine.

In general, each joint of a linkage connects two links, and a binary link supports two joints. If we consider a hexagon to be constructed from six binary links with six of the seven joints forming its vertices, then, the seventh joint can be added to connect two sides of the hexagon to forming a six-bar linkage with two ternary joints. This type of six-bar linkage is said to have the Watt topology.

INTRODUCTION

A six-bar linkage can also be constructed by first assembling five binary links into a pentagon, which uses five of the seven joints, and then completing the linkage by adding a binary link that connects two sides of the pentagon. This again creates two ternary links that are now separated by one or more binary links. This type of six-bar linkage is said to have the Stephenson topology.

ADVANTAGES
· Six bar linkage directly apply to any general mechanism.
· As hinted in the preceding mention of the gear train, the torque ratio is a function of the speed or angular velocity ratio between output and input links of the mechanism.

· The torque ratio is a function of geometric parameters, which, in the case of a linkage, will generally change during the course of the mechanism motion.

DISADVANTAGES

·  Moderate speed application only 
APPLICATIONS
·  Some wiper motor applications


